Isaac Barrow
Finding the Tangent to a Curve
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If the length of the subtangent MT could be found (thus determining the point T), then the line TP would be the required tangent.

Take as an illustration the simpler case of the parabola y2 = px. Using new notation (Barrow actually used p for x and m for y), we have for the point P, y2 = px; and for the point Q:
1. (y − a)2 = p(x − e).
By simplifying we get:
2. 





But, if a be an infinitesimal quantity, a2 must be infinitely smaller and therefore may be neglected when compared with the quantities 2ay and pe. Hence
3. ____________, that is, e : a = 2y : p.
Therefore,
4. TM : y = e : a = 2y : p.
Hence
5. TM = 2y2/p = 2x.


[bookmark: _GoBack]Find the equation of the tangent to y=x2 at x=2 using modern-day techniques:















Compare the two methods:
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